Day 5 per8-9.notebook

3. 2x(x - 2) 1& 2. See next page.

4. 4mn(m - 2n + 3mn)
B.(x+1D(x-1)

6. (Bx - 6y)(bx + 6y)
7.(x-3)x+4)(x-4)

8. 5x3(x? + 3)

9. (11x + by)(11x - by)

10. (16x% + 1)(4x + 1)(4x - 1)
11, (x + 4)(x + 3)(x - 3)

12. 6rs(bs - 4r + 1)

13. yiy + 1)(y" - 1)

14. 9(3x +y)(3x -y)

15. -11x° + x% + Bx +4

16. -3x%y* - 6x%y? + 12x%y* - 9x%y?
17. 10a? - 33ab + 27b?

18. -7x> + 26x% - 10x - 15
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1. Algebraically prove why a®-b® = (a+b){a-b) by simplifying the right side.
at-b: gligh-4b -k
At-b* = a e

v

2. Using a=5 and b=2, show that a®-b? = (a+b)(a-b) is true.
(5 (D)= (5H)(52)
25 =4 = (7))

A= A
v
Factor mmplefelyl'.: ek N&T
3 2 -4x OC 4, 4m®n - Bmn® + 12m*n” 5, x* -1
= (X2 = Ypn(m-2np3mn)  =OH)K)
6= puyp? =
6.é5x2 - 36y° ?.ﬂ;ﬂ 3:-::?16#: + 48 %.'QEKE + 15x° )
=(GH b OHoy) () -3)~Ie(X-3) =50°(x*+3
4 [;15 = (X)W y*-16)
= (x-3)x #O0H)
p\ 005 Breowp oS
9N121x® - 25¢y° 10. 256x" - 1 11, %+ 4x° - 9x - 36

= (x5 ) = 1o+ )Xt )
(1\x ;L}( ‘?,1) = G A = (x +u)(x*—9a)

= {x +0 (X +30A-2)

et tcE 00T34 a q_j" )
12@3&-;2- 24rs + 6rg 13, Kﬁﬁ \14. B1x? '9}’2 @CrfﬂaTj
iq

. ST 1) =q(xt-4 ")
brs(5s-10+1) ;5[&%%0%&4) :‘?(3x+3.}(3)“éj,)
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Seempliy et flex -
Te=wrife each polynomial in standard form By applying the operations in the
apprepriate order.

15, (2x% + 3%+ 4) - (11" + % - 5x)
= Al gy # = XF mx S X

16, -3xy(2x7 + x%y" - dxy + 3x)

=h£:j}cf-{ I 533 V0¥ 3_,_4? (.
;q *I%. 1-} {.}L
—_:—5;,(33 ~bx'y +I5k¥’5p3 — Y

17. (2a - 3b)(5a - 9b)

= j0a*~ |Tab-ISab td1b*
= )0a* ~33ab taTbT

18, (5 + 5x - 7x%)(x - 3) N
= (545 x=Tx")=3(5+5xX 71X ) .
= Sxt-2x IS TS+ 2T
= =Pt 2b 10X TIS
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Let's look at the last section from yesterday's notes

Factor Completely:
1. 36:!412—4}'2 2. 12x2-27
=47 xx“"c;’}) =3(4x-17)
— (_/ (3,(—7)&4-%) = 3(2.)("'3) 1234‘35
Lo
3. 2yt 2y +4yi+ 4y 4. 81-m*
=29 (y hym+2942) = (9 T +2)

=2y 5G] Nl = (3= )@t )(T Fmt)
:Qg € X@ )

YouTube video on RSA encryption (about 10 minutes)

(http://www.voutube.com/watch?vV=M7kEpw1tn50)
https://www.youtube.com/watch?v=M7kEpw1tn50
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1-5: Factoring Long and Short Product/Sum e 74__ [
Factoring Trinomials using Product/Sum (with leading coefficient # 1):

Ex amg:ég__l;: ctm;&h ecfnllowmg trinomials using Product/Sum long form.

—2) =1 (o aees =372

1. 2x2+13x+6 P=A 2. 6x2-13x+5 ~ =

| axc )('l-'é 521'3 { é)(—’b)(—/O)('F‘S S — =
/

" > S Sse7] 4L
(we)(.;zxf-l) CQ&IXSK“S) %
3. 4x2+4x-3 %:__‘;3* (4. 4x2-4x-3 WZ‘IA,S:—C/
e SR I
@QX=1)(43) (ol 1 (X3 )
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5.3x2+7x+2 (=6, 5(;7
22X F[ XIS l

2 (xr) H (K1)
(i) (¥ ),

7 s+ 2x.3 0TS, 5=
SR TR, D
Sxer1)-3(X*1 )

(S

September 11, 2019

6. 3x2-7x+2 0=, S=="77

-~k td - |7
X =1y =2x=1 )
(3x=1)(X)

8. 5x%2-2x-3 @:,—/S,Sz‘Q\
SESHA S \5/-~§
ST
Ce-1)(SKH3)
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Tip for finding pair of numbers that give correct product/sum:
Enter the following into Y; and Y, on calculator: Y, = prod/x
Y, = prod/x + x

6o to the table and find the sum in Y, column. The pair of numbers you want are the
corresponding X and Y,

. NORMAL FLOAT AUTO a+bi RADIAN MP NORMAL FLOAT AUTO a+bi RADIAN MP
Example: x2 - 19x + 48 !

Plotl Plot2 Plot3 _SX _gYﬁi _1?1’2
- - B\Y1848/X A
Prod = 48, Sum = -19  1{y;548 %+x G |E
ENY3= . .
ENYa= 21 Ell:;?mk Elé?mn
ENY 5=
\Ys= S T Ft
ENY 7= y 12 16
ENYg= 5 9.6 i4.6
I\Ys= Y2=-19

From the table you can see the correct numbers are -3, -16
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Factoring Trinomials (with leading coefficient=1):

Ex amp%e: Factorthe following trinomials using Product/Sum short cut.
o=

1. x2+6x+8 r=& 2. x2-13x+40 Q\l/p —13

k+)ER) 25 - (x-R)(x-S) - §5

3. x2-3x- 4[}() '7/0 4 %2+ 3x. 1[)67* 05 3
(K*K)(X*Q Y S (X)) S,’Q\
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5.x2+7x+6 @'(”cs;ﬂ
= (X+C) (K1)

7. X2+ 5x-6
(x—?‘fé(ﬁ—)—
x=DXre)

September 11, 2019

6. X2+5x+6

(1) (x+3)

8. x2-6x+5

(- 5)t— \)
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Factor COII.I{)IEE?I}': 2y3+6y2+4y
) %mf 2)

What is different about this one? Try factoringit.
'7_:,;24_.2_}(}1_24?2 ?:‘QL{) S—_—a\
X =ty ROyl -y, @

X(x-Y4) 16y (%=
(x=49) (X&)

September 11, 2019
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